HWO02

Exponents
3 _ . . —
(a) 10° R
(b) (-3
(c) -3%
(d)2- 5
(e) (2-5)2

Orders of Operations = PEMDAS = Parentheses, Exponents, Multiplication, Division, Addition, Substraction

Evaluate 3-9-2° + 4

3.-9- 25 +4=3.9-32+4 Evaluate the exponential
=27-32+4 Multiply
= 27 - 8 Divide

= 1 9 Subtract

Evaluate (30-5)-3+15+7

N\Nhlx

2% —11
Evaluate ————=

9+3-2
Evaluate — i (_9)

6(-3)-1(-2)
Evaluate 6x° +5y -3z using x=—-4, y =3, and
Z = -6.

4y-3(x-1

Evaluate 2+ 9 using x = -4, y = 3, and
z=-6.
Evaluate

Y
3 usingx=-4, y=3,and z = -6.
X
2




Absolute Value Evaluate Expression

(a) |-6.85] 6.85
(b) —|50

© -3 -

@)y, ify =2

Let m =13 and n = -9. Evaluate each expression.

(@) [3m+5n|= [3(13)+5(-9)|
|39 - 45 =|-6|= 6
[2m|-3]n| _
() im+n|

Distributive Property

(@) 8(m—2n) =

&M — 2n) = 8m — 16n

(b) —(—=3r+ 5s) =

3(5, .1, _
)4( p+od 28)

(c 6




Polynomials

(@) m°®.-m?®

(b) (—5r3)(6r4)(—3r) =

o (7

) (2°°)'

Evaluation of the 0 power

(a) 8°

(b) —8°

(c) (-8)°

(d) =(- 8)°

(€) (=3b°%)°




Adding and Subtracting Polynomials

(a) (1 7x% —10x2 + x) 4 (—9x3 +10x% - SX)

(17 -9)x® +(-10 +10)x* +(1-5) x
8x% —4x

(o) (-6m* —11m* +21)~(m* —6m® +35)

(c) (1 0r3s® + 5r633) + (254r‘3s6 ~1 5r633)

(@) 6(z° -52+3)-4(32° -2z +9)

Multiplying Polynomials

Multiply (4t -5)(3t* -2t +7)

3t2 _2t +7

a4t -5

~15t%2 +10t-35
1213 —8t% 4+ 28t

12t — 23t% + 38t — 35

« —B(3t° -2t +7)
— (3t -2t +7)

Add in columns

(7y +3)(4y -9)

Hint use FOIL = First Outer Inner Last

F O I L
(7y)4y)+(7y)(=5)+3(4y)+3(-9)
28y2 —-23y—-15 35y +12y = 23y

(6p+11)(6p—11)

x2(2x - 5)(2x +5)

(@) (7m-10)(7m+10)

(b) (4:‘2 - 9)(4r2 — 9)




(c) (5x2 —8y4)(5x2 +8y4)

(d) (8z+3)°

(e) (52— 12q3)2

Multiplying Complicated Binomials

Find the product: [(4x =3)+7y [[(4x=3)~7y] I rp 5 7 ax-g)-7y]  Cmimettesn

terms

= (4x-3)° - (7y)’
=16x2 - 24x +9—49y?

3
Find the product: (s + 4t)




Dividing Polynomials

Divide 12n° +11n° +5n—8 by 3n + 2

4n® +n+1

3n+2112n° +11n% +5n -8
12n° + 8n?

3n° +5n

3n° +2n
3n-8
3n+2
-10

Divide 8x% +12x? +7x—18 by x% + 2




Factoring Polynomials // GCF

(a) 6a° —18a* =

6a° (1 - 332)

(b) 14x3y2 —28x2y3 +21x2y2

(c) 24(x—-2)° -16(x-2)° +6(x-2)

Factoring by grouping

r’s+3r°-5s-15 =

(r2s+3r2)— (558 +195)
r2(s+3)—5(s+ 3)
(r =5)(s +3)

2 2

Am? —mPn+4n—-n?=

9y° —15y2 +6y —10 =




